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5 FK|1,2-2o0019> 20 0 20 0 40 0
8 |FEK| MLI> 20 0 20 0 40 0
9 FK| TPV 2-TFILNFIL) 20 0 20 0 40 0
10 |#K | ERIEERAE 13 0 14 0 27 0
12 | 5K | TBYLigSR 12 0 13 0 25 0
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26 |¥FK| pHiE 19 0 20 0 39 0
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R1.7.2 R1.8.6 R1.7.1 R1.7.2 R1.7.2 R1.7.2 R1.7.2 E?K:R1,7,2 R1.7.23 R1.7.2 R1.7.2 R1.7.2 R1.7.2 R1.7.2 R1.7.2 R1.7.8 R1.7.2 R1.7.2 R1.7.2 R1.7.3
e #OK:R173| BRESI
R1.7.9 R1.7.9
1 ey FUFEVRUZDIEEY 0.02 mg/L <0.0015]  <0.0002] <0.0015] <0.0015] <0.0015] <0.0015| <0.0015] <0.0015] <0.0002] <0.002] <0002 <0.0015] <0.0015] <0.002] <0002] <0.0015] <0.002] <0.002] <0.002] <0002 20 0
2| Fag |97 RUZOILEY 0.002 mg/L <00002]  <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002| <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 20 0
3 =y LBRUZDIEEY 0.02 me/L| o | <0001 <0001 <0.001] <0001] <0.001] <0001 0002 <0.001 0001] <0001] <0002] <0001] <0001] <0001 <0001] <0001] 0001] <0001] <0.001] <0.001 20 0
5| | 2—sonOTAY 0.004 mg/L <0.0004| <0.0002] <0.0004] <0.0004] <0.0004] <0.0004| <0.0004] <0.0004] <0.0004] <0.0004] <0.0001| <0.0004] <0.0004] <0.0004] <0.0004] <0.0004| <0.0004] <0.0004] <0.0004] <0.0004 20 0
8| Sy [MLTV 04 mg/L <0.001 <0001 <0001] <0001] <004] <0001] <0001 <0.001 <004 <004] <0001] <002] <0001 <0001] <0001] <0001] <004] <004 <004] <004 20 0
9 JRILET 2—IFAFL) 0.08 mg/L <0008]  <0.005] <0.008] <0008] <0008] <0008] <0008] <0008 <0.008] <0008] <0008 <0008] <0008] <0.008] <0.008] <0008] <0.008] <0.008] <0.008] <0.008 20 0
o] . [EERE 06 mg/L <0.06 <006] <006] <006 <006] <0.06] <0.06 <0.06 <0.06 <006] <006] <006] <006 13 0
12 i’;ﬂ'ﬁf —EILiER 06 me/L) . | <006 <006] <006]  <0.06 <006] <0.06] <006 <0.06 <006] <006] <006] <006 12 0
13] =5 [V omn7 bz 0.01 mg/L| <0.001 0001] <0.001] <0.001 0001] 0002]  0.001 0002| <0001 0001] <0001] <0001] <0001 <0001] <0001] <0001] <0001] <0.001] <0.001 19 0
14 fksOS— )L 0.02 mg/L <0.002 0005 <0.002] <0.002 0002] 0005] 0003 0003] <0002] 0004] <0002] <0002] <0002] <0002] <0002] <0002] <0002] <0.002] <0.002 19 0
15| BE |BEE 1 Bk 0 <001 0 0 0 0 0 0 0.05 0 <1 0 0 0 0 0 0 0 0 19 0
16 fﬁiéﬁf} BBER 10 meg/L 0.18 0.40 03 0.24 04 047| 042 0.28 0.2 03 02 0.15 0.40 040, 033 03 03 0.2 041 19 0
17| ® g’)""u"w’*’w‘%(ﬁ 10~100 me/L| 5K 26 24 25 33 65 94 76 7 32 30 90 47 s| 101 70 44 76 93 77 19 1
18] #& |[RUHVRUZOIEEY 0.01 me/L <0.001 <0001 0002 <0.001 <0005] <0001] <0001] <0001] <0001] <0005] <0001] <0001] <0005 <0005 0001 <0001] <0.001] <0001] <0.001 19 0
19]  mk [wmEExE 20 me/L 3 2.1 13 3.1 2.2 6.5 6.3 35 3.3 20 40 24 22| 215 35 4.1 1.2 5.2 3.2 19 1
20 oo [Lti-husERTEY 0.3 me/L] o | <001 <0001 <0.001] <0001] <003] <0001] <0001 <0.001 <003]  <003] <0001] <003] <0001] <0001] <0001] <0001] <003] <003] <003 <003 20 0
21 AFILA-TFILI-FI 0.02 me/L] <0.001 <0001 <0001] <0001] <0002] <0001] <0001 <0001 <0002] <0002] <0001] <0002] <0001] <0001] <0001] <0001] <0002 <0002] <0.002] <0.002 20 0
AhE
22l W | Chmof EAy Y L EE) 3 me/L 13 05 0.2 2.9 2.2 2.1 0.7 038 05 2.2 0.9 05 <02 <02 <02 0.3 <03 <03 0.7 19 0
23| BE |[253E(TON) 3 <1 1 A A A A A 1 < < < < < 5 5 5 5 5 5 19 0
24| m|ERBIY 30~200 me/L| ok 66 65 96 87 118 192 152 151 96 61 170 106 106 217 162 111 193 217 206 19 3
25| ZEIE g 1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 19 0
26| oo [PHIE 71558 7.3 7.2 7.6 7.6 7.9 7.4 7.3 7.3 7.3 7.3 7.4 7.7 7.6 6.7 7.8 7.3 8.1 75 7.8 19 0
27 BRN(GU7UTER) —iEELE -2.0 23|  -22 -15 -0.6 -10]  -1.9 -14] -17 18] -093 -10]  -12 -16 -0.4 -16 -0.1 -0.7 -0.4 19 11
28| ok [EEREMECEK) 2,000 18/mL| 7k 0 4 4 83 1 0 23 0 0 0 0 4 3 2 4 0 11 1 4 19 0
T R EMEEK) 3B RE| (2000) 1&/mL| Bk 810 2,000 420 630 670 4,800 48,000 7 15 23 4 11 0
29| —masml11-CronTFLY 0.1 me/L| BK| <0.001 <0001 <0001 <0001 0001] <0001] <0001| <0.001 <001 <001| <0001] <0002] <0001 <0001] <0001] <0001] <001] <001 <001] <001 20 0
30| #R |[FLI=HLRUZOLEEY 0.10 me/L| 7K 0.04 0.03 0.04 <0.01 0.12] 002 0.03 0.04 002] 001 <0.01 001 <001] <001] <001 0.01 <001 <001 0.07 19 1
BIER 26 26 26 26 10 26 26 26 26 24 25 23 26 26 26 26 24 24 24 24 490 17
1 1 1 1 0 1 0 1 1 1 1 0 0 1 4 0 1 0 1 1 17
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GYFRRKY S L — 1@/10L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 of 15 0
1’?32’;’2\ STLST — B/ oo 0 0 0 0 0 0 0 0 0 o 0 0 0 0 | 15 0
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X5 HE BiRfES| Hf E?)ﬁ RAT m75 2R [ = I =¥ A ij;r%ﬁfzm TEET 5 BHT ALET chET EERET | LAY =)3s FRET ) REH gg
éﬁé kB KB kA #KkB k8 k8 k8 k8 k8 m#%k H /KB KB KB KB KB KB /KB KB /KB /KB
R2.2.4 R2.2.3 R2.2.3 R2.2.4 R2.2.4 R2.2.4 R2.2.4 R2.2.4 R1.12.3(R %58 R2.24 R2.2.12 R2.24 R2.2.4 R2.2.4 R2.2.4 R2.2.10 R2.2.4 R2.2.4 R2.2.4 R2.2.5
REEE . EREEE
R1.12.18 B (ER1.12.16)
1 — FUFELRUZDIEE 0.02 me/L <0.0015] <0.0002] 00016] <0.0015] <0.0015] <0.0015] <0.0015| <0.0015] <0.0002] <0.002] <0.002] <0.0015] <0.0015| <0.002] <0002] <0.0015] <0002] <0.002] <0002] <0.002 20
2| Fag |IIVRUZOILEY 0.002 me/L <00002| <00002] <0.0002] <0.0002] <0.0002] <0.0002] <00002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 20
3 —yT LRUZDIEE 0.02 me/L] o | <0001 <0.001 0001] <o0001| <0.001] <0.001 0002] 0001 0002] <0001 <0002 <0001] <0001] <0.001] <0.001] <0.001 0003] <0001] <0001] <0.001 20
5 _, I 2—oHOnT&y 0.004 me/L <00004] <00002] <0.0004] <0.0004| <0.0004] <0.0004] <0.0004] <0.0004] <0.0002| <0.0004] <0.0001]] <0.0004] <0.0004] <0.0004] <0.0004] <0.0004] <0.0004] <0.0004| <0.0004| <0.0004 20
8| sy [PLTv 0.4 me/L <0.001 <0001 <0.001]  <0.001 <004 <0001 <0001] <0.001 <0.001 <0.04]  <0.001 <002] <o0001] <0001] <0.001] <0.001 <004]  <004] <004 <0.04 20
9 THIVEES 2—IFAEYL) 0.08 me/L <0.008 <0005] <0008] <ooo08] <0008] <0008] <oo008] <0.008 <0005| <0.008] <0008 <0008 <0008] <0.008] <0008 <0008] <0.008] <0.008] <0.008] <0.008] 20
10 TR 0.6 me/L <0.06 <006] <006 <006 <006] <008 <008 <0.06 <0.06 <0.06 <006 <006] <006] <006 14
12 5i§fi‘é§ —EEEE 06 ma/L] <0.06 <006] <006 <006 <006] <006] <008 <006 <0.06 <006] <008] <008] <006 13
13| =% [V om0z ez 0.01 me/l] <€0.001 <0001| <0001] <0001 <0001] <0.001 0001  <0.001 <0001] <0001] <0001 <0001] <0001] <0001] <0001 <0001] <0001 <0001] <0001] <0.001 20
14 faKksO5— L 0.02 me/L <0.002 <0002] <0002] <0002] <0002] <0002 0002 <0.002 <0002] <0.002] 0002 <0002 <0002] <0002] <0002 <0002] <0.002] <0002 <0002] <0.002 20
15| BE |gxs 1 &k 0 <0.01 0 0 0 0 0 0 <0.01 0 <1 0 0 0 0 0 0 0 ol 19
16 ?,é;i’if; BEER 1.0 me/L 0.33 043 06 0.44 06 0.4 0.51 0.36 0.38 04 03 02 0.24 03 0.30 0.38 03 03 02 0.32 20
1] B X RS me/L| 25K 39 23 37 42 48 82 115 99 94 38 38 94 55 43| 103 68 48 78 93 86 20 2
18] #&& [~ A RUZOEEY 0.01 me/L <0.001 <0001] <0001 <0001 <0001] <0005] <0001 <0.001 <0001 <0.001] <0005 <0001 <0001 <0005] <0005] 0001 <oo01] <0001] <0.001] <0.001 20
19 mE [temEmE 20 me/L 39 1.8 15 3.2 55 28 7.8 6.1 27 25 23 3 35 3.2 235 7.0 32 13 37 2.3| 20 1
20 o [Li-turEETSY 0.3 me/L] o | <0001 <0001] <0001  <0.001 <003 <0001 <0001 <0.001 <0.001 <003 <0.001 <003] <0001 <0o001] <0001] <0.001 <003] <003 <003 <0.03| 20
21 AF AT FILI-TI 0.02 me/L <0.001 <0001] <0001] <0001 <0002 <0001 <0001 <0.001 <0001| <0.002] <0001 <0002 <0001 <0001 <0001] <0001 <0002] <0002] <0002] <0.002 20
22|  m ’(ﬁﬁ%%/ﬁ/ﬁ AT 3 — 06| 106 }:LOT'? 03 09 12 1 14 10 oo &LOTJ) 04 06 06 06 <02 0.2 03 <03 <03 <03 0.6 20
23| 25 |sg3EdoN) 3 3 1 2 3 3 3 3 3 1 2 2 <1 <1 2 < <1 < < < 2 20
24 Bk RAEEEY 30~200 me/L| #IK 94 64 126 103 240 150 245 138 207 95 86 191 122 116 219 171 94 173 176 193] 20 4
25| L | 1 <01 <01 <0.1 <0.1 <01 <0.1 <0.1 <0.1 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <0.1 20
2| oo [PHE 75525 7.4 73 75 7.8 79 7.7 7.4 75 73 7.6 75 75 77 7.6 6.7 738 73 79 77 79 20
27 BEE (SL45YTESR) —i2ENLE -1.9 2.4 24 -1.3 16 -08 11 -10 14 16 17| -095 12 11 -16 -04 -15 -03 -06 -0.4 20 13
28| ke HEEFEMBECHEK) 2,000 {B/mL| K 0 0 1 1 0 1 0 0 0 0 0 0 0 3 0 3 0 4 1 K] | 20
RBEEEEEK) 5= | (2,000) 1/mL| Bk 710 2,900 1,200 1,900 1,600 2,300 15,000 27 5 5 6 11
29| —meAm11-SoonTFLY 0.1 me/L| Bk |  <0.001 <0001| <0001[ <0001] <0001 <0001| <0.001| <0.001 <0.001 <001| <0001 <0002] <0001| <0.001| <0.001| <0.001 <0.01 <0.01 <0.01 <0.01 20
30| #& |[ZLI=ZHLRUZOEED 0.10 me/L| K 0.01 0.01 <0.01 <€0.01 0.05 0.02 0.01 0.04 0.02 0.01 €0.01 €0.01 <0.01 €0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.07 20
AIER 26 26 26 26 26 26 26 26 26 24 25 23 26 26 26 26 24 24 24 24 506] 20
1 1 1 1 2 3 2 1 1 1 1 4 1 20
FEESEEHE G |BEEG |REH G| EEEY R RS REE S| EERG BEE (S REE S TEE BEES
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ik Fr.?uJII FENEFR|] mBNI _.,_%JII HEIKJI ﬁﬁ;ll_tiﬁ ﬁ&ﬁ_‘J_II'Fiﬁ ffiﬁf“l FEN TR EEEfiEJI[J:Sﬁ B T ) l,-%?&iﬁiﬁfﬂ ‘:‘?:_jﬂ_&ﬂtiﬁfvz ‘:‘?:i&ﬂtiﬁfv.(% L—‘?:i&ﬂtﬁm 2 Rihigi4 i%ﬂﬂt}é’ﬂ i%ﬂﬂt?’& i%ﬂﬂt?’m E%Bﬂt?’iﬂ 21
No. B4 EE BiEEs s P ;ﬁﬂﬂﬁi E¥%L‘%(’£) EP;Z%ET E:_UF?FE %EF‘FFI ;-'_EIFH n%_l"‘ﬁﬁ B%}EIFFI E¥§§E‘<(’JE) ﬁﬁykéﬁ #@EFE ;é:fJIIFﬁ %_UFTFE ﬂg*ﬁﬁi ﬂg*%ﬂ? 1??"‘%5 ﬁ%}?kéﬁwww Al ﬁﬁé
1558 k8 k8 KA #/KB k8 k8 k8 k8 Y] #/KB #/KB #/KB #/KB #/KB /K8 /K8 /K8 /K8 /K8 /K8 B
R2.2.18 R2.1.20 R2.2.3 R2.2.4 R2.1.8 R2.2.4 R2.2.4 R2.2.4 R1.12.16 R2.2.18 R2.2.18 R2.24 R2.24 R2.24 R2.24 R2.1.14 R2.2.18 R2.2.17 R2.2.17 R2.2.18
HUYFRRRYS™ L - 18/10L 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15
-?II)erI;Z_L\ STLST - B/ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15
e xmm — [MPN/100mL]| 6] B <18 Bt 75 37 of <8 < < <18 11
BRI - 18/100mL 11 14 3 9 45 6 0 0 0 0 11
AIESR 2 4 2 2 2 4 2 4 4 2 4 4 2 2 2 2 2 2 2 2 52




RH2—1 FRRFEKEEERARERE (REA MR RESER: £/

RIIIEF)
- BiR{E 1 2 3 4 6 7 8 9 10 1 1 13 14 20 -
No. LES & (/LB ARl | FRIER| mHI | Bl | @kl | BlER | TR | Wil | SRR | RAw LR RAITR| BRbE | BRbEs | BRbEs Tl e i
BET | HER@) [ D2EE | SAdH Eh BT HH BET | HER () [RAKER] MHED &I BT it BiAE BREKES
1, 3—>/O0JO~Y(D—D) .05] .0005 <0.0005 <0.001] _ <0.000 <0.0001 <0.0005] _ <0.0005 <0.001 1
2, 2—DPA(S5) C.Ogl <0.000:
2, 4—D(2, 4—PA) 0.02 <0.0002 <0.0002| <0.0002| <0.000: <0.0002| <0.0002| <0.0002] <0.0002
RN 0.004] <0.00005 <0.00005] <0.00005] <0.00005| <0.00004 <0.00004] <0.00004 <0.00005] <0.00005| <0.00005| <0.00005 1
5[McPA 0.005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005] <0.00005| <0.00005| <0.00005
6|7 a54 0.9 <0.00 <0.00! <0.009 <0.00! <0.009 <0.009 <0.009 <0.009
7|7ezx—+ 0.006! <0.00006] <0.00006 <0.00006] <0.00006] <0.00006 <0.0000 <0.000¢ <0.00006
FrSUY 0.01 <0.000 <0.000 <0.0001| <0.000 <0.0001 <0.0001]| <0.0001 <0.0001| <0.0001| <0.0001] <0.0001 1
F=0kR 0.003] <0.0000! <0.00003] <0.00005[  <0.0001|[ <0.00005 <0.00003] <0.00003 <0.00005] <0.00005| <0.00005| <0.00005 1
F3h5X 0.006 <0.0000 <0.00006 <0.00006] <0.00006| <0.00006| <0.00006
F50—) 0.03]  <0.0003| <0.0003 <0.0003| <0.0003| <0.0003|[ <0.0001 <0.0003|  <0.0003 <0.0003] <0.0003| <0.0003] <0.0003 1
1VEGFAY 0.005 <0.00005 <0.00005 <0.00005|[ <0.00005 <0.00005] <0.00005
AYFThR 0.001] <0.0000 <0.00001] <0.00001| <0.00001] <0.0000: <0.00001] <0.0000 <0.00001] <0.00001| <0.00001| <0.0000
4|47 0L T (MIPC) 0.01] <0.000 <0.000 <0.000 <0.000 <0.000 <0.000 <0.000 <0.000 <0.000 <0.000 <0.000
5(1vFnF+5> UPT) 0.3 <0.00 <0.00: <0.00: <0.00: <0.0004 <0.00: <0.00: <0.003 <0.00: <0.00: <0.00: <0.00:
6|(FO~>HR(1BP) 0.09 <0.000 <0.000! <0.000! <0.0009] <0.00008 <0.000¢ <0.000 <0.000 <0.000¢ <0.000¢ <0.000¢
1| 45/95850 0.006! <0.00006] <0.00006 <0.00006] <0.00006] <0.0000 <0.00006] <0.00006| <0.00006] <0.0000|
15/ T7> 0.009 <0.00009] <0.00009]| <0.0000 <0.00009] <0.00009| <0.00009| <0.0000! 7
T2TONLT 0.03 <0.0003 <0.0003|  <0.000: <0.000: <0.000 <0.0003| <0.0003 <0.000: <0.000: <0.000: <0.000: 1
0|ThorToysR 0.08]  <0.0008| <0.0008 <0.0008| <0.00008]  <0.0008|| <0.000: <0.0008| <0.0008 <0.00008] <0.00008| <0.00008| <0.0000! 1
1| TURRLT7ZU (RVJIEY) 0.01 <0.000
2[AFyTonsty 0.02| <0.0002 <0.000 <0.0002| <0.0002 <0.0002] <0.0002| <0.0002] <0.0002
HEE Ct ) 0.03 <0.0003 <0.0003] <0.0003] <0.0003 <0.0003] <0.0003| <0.0003]  <0.0003
4| yHRAEY 0.1
5[hXHHR 0.0006 <0.000006 | <0.000006! <0.000006 | <0.000006 | <0.000006 <0.000006
6[hvr ako—1 0.008 <0.00008 <0.00008 <0.00008 <0.0001] <0.00008 <0.00008] <0.00008 7
7[pnsy7 0.3 <0.003
28[A1L/X1) L (NAC) 0.02 <0.0002 <0.0002] <0.0002| <0.0002] <0.0002 <0.0002
9[hrkz5 0.005! <0.00005 <0.00005 <0.00005
0[+/555> (ACN) 0.005 <0.00005 <0.00005] <0.00005| <0.00005 <0.00005] <0.00005| <0.00005| <0.00005
[IEES2 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 1
AL 0.0 <0.0003[ <0.0003
3|5umy—t <0.0002 <0.0002] <0.0002] <0.0002] <0.0002] <0.0002| <0.0002 <0.0002
4|5 Nk =t 0.0 <0.0002
540470y 7 0.0 <0.0002 <0.0002|  <0.000 <0.000 <0.0002| <0.0002 <0.000 <0.000 <0.000 <0.000 1
6|20 =ro> (CNP) 0.000 <0.000001| <0.00005| <0.000 <0.000001 | <0.000001 | <0.000001 | <0.00000 7
7[2B0EYHR 0.003]_ <0.00005] <0.00003 <0.00005] <0.00005[ <0.00003| <0.00003| <0.00003| <0.0000: <0.00003] <0.00003 <0.00003| <0.00003| <0.00003| <0.0000: 14
38[~0040= )L (TPN) 0.05 <0.0005 <0.0005 <0.0005 <0.0005] <0.0005| <0.0005 <0.0005] <0.0005 <0.000! <0.000! <0.000! <0.000! 12
392 7oy 0.001 <0.0000 <0.00001] <0.00001[ <0.00002 <0.00001 <0.00001] <0.00001| <0.00001]| <0.0000 9
40[> 7 /A (CYAP) 0.00 <0.0000! <0.00003] <0.00003| <0.00003| <0.00003 <0.00003] <0.00003| <0.00003]| <0.0000: 9
41[vnx (bemu) 0.0 <0.000 <0.0002 <0.000: <0.000: <0.0002 <0.000: <0.000; <0.000: <0.000; 9
42[S50~=)L (DBN) 0.0 <0.000: <0.0003] <0.0001 <0.0003] <0.0003 <0.000: <0.000: <0.000: <0.000: 9
43[250LRA (DDVP) 0.00 <0.0003 <0.00008] <0.00008| <0.00008| <0.00008]| <0.00008] <0.0003] <0.00008] <0.00008| <0.00008| <0.00008| <0.00008| <0.00008 <0.00008] <0.00008| <0.00008| <0.0000i 7
44[S599k 0.005] <0.00005] <0.00005] <0.00005] <0.00005] <0.00005] <0.00005| <0.00005| <0.00005] <0.00005| <0.00005 <0.00005 <0.00005] <0.00005| <0.00005| <0.00005 5
45[ SRR (TFNFAARD) 0.004] <0.00004 <0.00004] <0.00004| <0.00004| <0.00004] <0.00004] <0.00004] <0.00004| <0.00004 <0.00004] <0.00004 <0.00004] <0.00004| <0.00004| <0.00004 5
46[SFA NIRRT 0.005 0
47[SFAEN 0.009) <0.00009 <0.00009] <0.00009| <0.00009| <0.00008 <0.00009] <0.00009 <0.00009] <0.00009| <0.00009] <0.0000! 11
48[v\akyITFIL 0.006 <0.00006] <0.0000 <0.00006] <0.00006| <0.00006] <0.0000i 6
49[2 oy 0.003] <0.00003 <0.00003 <0.00003] <0.00003| <0.00003| <0.00003| <0.00003| <0.00003| <0.00003 <0.00003] <0.00003| <0.00003]| <0.0000: 3
50[T A4 0.02 <0.0002 <0.0002]  <0.000 <0.000; <0.0002 <0.0002] <0.0002 <0.000; <0.000: <0.000; <0.000: 1
51[IART—F 0.05] <0.0000! <0.000! <0.0005 <0.0005] <0.0005] <0.0005] <0.00005| <0.00005| <0.00005| <0.0000! 0
52[2 AR 0.0 <0.000: <0.000: <0.000: <0.000: <0.0003 <0.000: <0.000: <0.000: <0.000: <0.000: <0.000: 1
53|57/ 0.003]_ <0.00003] <0.0000 <0.00003 <0.00003] <0.00003| <0.00003| <0.00003| <0.00003] <0.00003] <0.00003] <0.00003| <0.00003| <0.00003| <0.00003| <0.00003| <0.0000: 6
545 (LA 0. <0.00 <0.008 <0.00i <0.00i <0.00i <0.00i <0.00i <0.00i <0.00i <0.00i <0.00i 1
55 0.0 0
56 0. <0.001 <0.0001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 8
57| FH5L(FSL) 0.0 <0.0002 <0.000: <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 7
58| FASHNT 0.0 <0.000: <0.000: <0.0008]  <0.000 <0.0008] <0.0008] <0.0008] <0.0008 8
59[FAT7H—FAF I 0. <0.003 <0.00 <0.003 <0.003 <0.003 <0.003 <0.00: <0.00: <0.003 <0.003 10
60| FARLANT (R FAH—T) 0.0 <0.000 <0.0002 <0.0002 <0.0002] <0.00002] <0.000 <0.0002] <0.0002] <0.0002] <0.0002 <0.00002] <0.00002| <0.00002| <0.00002 14
617Uk 0.00 <0.00002] <0.00002 0.0000!
62[7)LTHILT (MBPMC) 0.0 <0.000: <0.0002]| <0.0002 <0.0002] <0.0002 <0.000; <0.000; <0.000; <0.000; 9
63[ruzaEL 0.00 <0.00006 <0.00006] <0.00006] <0.00006! <0.00006] <0.00006| <0.00006] <0.0000i 8
64|~y ~0)Lit> (DEP) 0.00 <0.00005 <0.00005] <0.00005[ <0.0002]| <0.00005]  <0.0003 <0.000; <0.000; <0.000; <0.000; 10
65[rS 55— 0. <0.001 <0.001 <0.00 <0.00 <0.00 <0.00 <0.00 <0.00 8
66[rTILSU 0.0 <0.0006 <0.0006 <0.000 <0.000f <0.000f <0.0006] <0.0006] <0.0006] <0.000 <0.0001 <0.0001 <0.0001 12
67| 70/8sF 0.0 <0.0003 <0.0003] _ <0.000 <0.000: <0.000: <0.0003|  <0.0003 <0.000: <0.000: <0.000: <0.000: 11
68[/55a—k 0.005 <0.0005 <0.00005 <0.00 <0.00005] <0.00005| <0.00005| <0.00005 7
69[E~OkR 0.0009 <0.00001 <0.00001] <0.00005] <0.00005| <0.00005 <0.00001] <0.00001 <0.00005] <0.00005| <0.00005| <0.00005 11
70[E550=1 0.01 <0.0001 <0.0001] <0.0001| <0.0001] <0.0001 5
T[ESY*S o1y 0.004 <0.00004 <0.00004 <0.0006 3
72[E5YUF—F(ESIL—F) 0.0 <0.000 <0.000: <0.0002 <0.0002 <0.000; <0.000; <0.0002] <0.0002] <0.0002] <0.0002 10
13[EVs I FAY 0.00 <0.0000! <0.00002] <0.00005] <0.0001] <0.00005 <0.00002] <0.0000 <0.00005] <0.00005| <0.00005| <0.00005 11
74[EVTFALT 0.0 <0.000. <0.000: <0.0002]  <0.0002| <0.0002 <0.000; <0.000; <0.0002] <0.0002] <0.0002] <0.0002 11
75|En*ny 0.05 <0.0005 <0.0005] <0.0005] <0.0005| <0.0004 <0.0005] <0.0005 <0.0005] <0.0005] <0.0005] <0.0005 11
76[2«Fo=) 0.0005] <0.000005] <0.00005 <0.000005] <0.000005 <0.000005 | <0.000005 | <0.000005| <0.00005 <0.000005][ <0.000005 | <0.000005] <0.000005] <0.000005 | <0.000005 14
77[7z=roFA> (MEP) 0.01 <0.001] <0.0001 <0.0001 <0.001] <0.0001] <0.0001]| <0.00003 <0.0001] <0.0001] <0.0001] <0.0001 11
787/ L7 (BPMC) 0.03 <0.0003 <0.0003 <0.0003]  <0.0003| <0.0003| <0.0003 <0.0003|  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003 12
797y LT 0.05 <0.0005 <0.0005 <0.0005] <0.0005] <0.0005] <0.0005 6
807> F 4> (MPP) 0.006! <0.00006 <0.00006 <0.00006 <0.00006]| <0.00001 5
81|72 hT—F(PAP) 0.007 <0.00007 <0.00007] <0.00007| <0.00007| <0.00004 <0.00007] <0.00007 <0.00007] <0.00007| <0.00007| <0.00007 11
82[7 b5 0.01 <0.0001 <0.0001 <0.0001 3
83[T%54F 0.1 <0.001 <0.00 <0.00 <0.001 <0.001 <0.001 <0.00 <0.00 <0.00 <0.00 10
84[J550—)L 0.03 <0.0003 <0.0003] _ <0.000 <0.000: <0.000: <0.000: <0.000: <0.000: 8
[HEZE 0.02 <0.0002]  <0.0002 <0.0002]  <0.0002 <0.0002]  <0.0002] <0.000 <0.000; <0.000 <0.0002] <0.0002 <0.000; <0.000; <0.000; <0.000; 15
86(J70ozv 0.02 <0.000: <0.000: <0.000: <0.0002]  <0.0002 <0.000: <0.000; <0.000; <0.000; 9
87[INFOF A 0.03 <0.000: <0.000: <0.000: <0.000: <0.000: <0.000: 6
88[JLF5oA—I 0.05 <0.0005 <0.0005] <0.0005] <0.0005| <0.0004 <0.0005]  <0.0005 <0.0005]  <0.000 <0.000! <0.000! 11
89|Jms sk 0.09 <0.0009]  <0.0009|[ <0.0009 <0.0009]  <0.0009 <0.0009]  <0.000 <0.000¢ <0.000¢ 9
90[FOFAHR 0.00 0
91[FoEary—p 0.0 <0.0005 <0.0005] <0.0005] <0.0005] <0.0005 <0.0005]  <0.0005 <0.0005] <0.0005] <0.0005| <0.0005 11
92[FnEHsK 0.0 <0.0005 <0.0005] <0.0005] <0.0005| <0.0005 <0.0005]  <0.0005 <0.0005] <0.0005] <0.0005| <0.0005 11
93[Fa~FV—i 0.0 <0.0003 <0.0003 <0.0003 <0.000: <0.000: <0.000: 6
0. <0.001 <0.001 <0.001]  <0.000 <0.00 <0.0004 <0.001 <0.00 <0.00 <0.000 <0.000 <0.000 <0.000 13
0.0 <0.0002] <0.0002] <0.0002 <0.000: <0.000: <0.000: <0.000: <0.0002]  <0.000 <0.000; <0.000; <0.000; 12
0. <0.001 <0.001 <0.00 <0.00 <0.0004 <0.00 <0.00 <0.00 <0.00 <0.00 <0.00 11
97|~ yEYHAY 0.09 <0.000: <0.000! <0.000! 3
98[~>yIrtvT 0.00 <0.00005 <0.00005] <0.00005 <0.00004 <0.00005] <0.00005[ <0.00005] <0.0000i 8
99[~> 8y 0. <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.00: <0.00: 9
100[RoFA45Y> 0. <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.001 <0.003 <0.003 <0.003 <0.003 <0.00: <0.00: 15
101|Ro95h1LT 0.04 <0.0004 <0.0004 <0.0004]  <0.0004 4
102[RYTNSY (RREDY) 0.01 <0.0001] <0.0001][ <0.0008 <0.0001]  <0.0001 <0.0001] <0.0001| <0.0001| <0.0001 9
103[RooLe—F 0.07 <0.0007 <0.0007]  <0.0007]  <0.0007 <0.0007] <0.0007| <0.0007| <0.0007 8
104|H2F7H—F 0.003] <0.00003 <0.00003 <0.0006 3
105|25F 4> (X5Y>) 0.7 <0.007 <0.007 <0.007 <0.007 <0.007| <0.0005 <0.007 <0.007 <0.007 <0.007 <0.007 <0.007 12
106|427097 (MCPP) 0.05 <0.0005 <0.0005] <0.0005] <0.0005 <0.0005]  <0.000 <0.000! <0.000! 8
107]4vsL 0.03 <0.000: <0.0003]  <0.0003 <0.0003 <0.0003] <0.0003]  <0.0003 <0.0003 <0.0003]  <0.000 <0.000: <0.000: 12
108[485% 1 0.2 <0.002 <0.00 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002| <0.0005 <0.002 <0.002 <0.002 <0.00: <0.00: <0.00: 15
109|*F 54 F4> (DMTP) 0.004] <0.00004 <0.00004] <0.00004[ <0.00004] <0.00004 <0.00004] <0.00004 <0.00004] <0.00004| <0.00004] <0.00004 11
110[AF/RPEEY 0.04 <0.0004]  <0.0004] <0.0004 <0.0004] <0.0004] <0.0004| <0.0004 7
111|AR TS 0.0 <0.000: <0.000: <0.000: <0.000: <0.000: <0.000: <0.000: 7
12|47z vk 0.0 <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 <0.0002|[ <0.0000 <0.0002] <0.0002]  <0.0002 <0.002 12
113[#Fa=n 0. <0.001 <0.001 <0.001 <0.00 <0.00 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 11
114[EU%—F 0.005! <0.0003 <0.0003]_<0.00005] <0.00005]|_<0.00005 <0.00005] <0.00005 <0.00005] <0.00005] <0.00005[ <0.00005 11
HER =|1 12 77 16 11 16 18 11 15 76 87 91 78 11 65 65 10 87 87 87 87 1004 0
LTS I 0
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#N2—2 SAREEKEEEARSERE (RESI149HE) RERR: TH

A (oK) TR
o B x4 BiEE 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 maw | s
(mg/LA®| @l [#RIEFRK] @B Bl ®EKJI | S)IEFR | BITR | #F0 | AR Tk | M R R TR R Rl | ERibigo | ERihiga | WRibiga | ERihiss | RS | RaAphiG2 | RANIES | RERHIEA
BET | BHER@®) | hEl BT R S BiEh HEh | BER @) FREAKER] EEDH F [Sibnn ltiiin BitE™ T FREKERFREKESFREKERHRAKED!

1[1, 3—>»0a7O0~>(D—D) 0.05 <0.0005]  <0.0001][<0.0001 <0.0005] <0.0005] <0.0005] <0.0005] <0.0005] <0.0005] <0.0005 10

2[2, 2-DPAESH) 0.08 <0.0008]  <0.0008 <0.0008] <0.0008] <0.0008] <0.0008} 6

3[2, 4—D(2, 4—PA) 0.02 <0.0002 <0.0002] <0.0002] <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 8

4[EPN 0.004 <0.00005 <0.00005] <0.00004] <0.00005| <0.00004 <0.00004] <0.00004 <0.00004] <0.00004] <0.00004] <0.00004 11

5[MCPA 0.005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005[ <0.00005] <0.00005] <0.00005 8

6[7 254 0.9 <0.009 <0.009 <0.009 <0.009 <0.009 <0.009 <0.009 <0.009) 8
7|7e7z—+ 0.006 <0.00006[ <0.00006 <0.00006] <0.00006] <0.00006 <0.00006] <0.00006]  <0.0008 <0.00006] <0.00006] <0.00006] <0.00006] <0.00006 13 0
8[7r5oy 0.01 <0.0001 <0.0001] <0.0001] <0.0001][ <0.0001 <0.0001]  <0.0001 <0.0001] <0.0001] <0.0001] <0.0001 11 0
9[7=m%h2 0.003 <0.00003 <0.00003 <0.0001] <0.00005 <0.00003] <0.00003 6 0
10[73r5X 0.006 <0.00006 <0.00006 <0.00006] <0.00006] <0.00006] <0.00006 6 0
1|7558—1 0.03] <0.0003] <0.0003 <0.0003] <0.0003] <0.0003| <0.0001 <0.0003]  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003 12 0
12[1VF9F4Y 0.005 <0.00005 <0.00005] <0.00005] <0.00005| <0.00005 <0.00005] <0.00005 <0.00005[ <0.00005] <0.00005] <0.00005 11 0
13[4 7ok 0.001 <0.00001 <0.00001] <0.00001] <0.00001][ <0.00003 <0.00001] <0.00001 <0.00001] <0.00001] <0.00001] <0.00001 11 0
14]4F0H1LF (MIPC) 0.01 <0.0001 <0.0001] <0.0001] <0.0001] <0.0001 <0.0001]  <0.0001 <0.0001] <0.0001] <0.0001] <0.0001 11 0
15]1vFaF45> (PT) 0.3 <0.003 <0.003 <0.003|  <0.0004 <0.003 <0.003 <0.003 7 0
16|17 O~ HZ (IBP) 0.09 <0.0009 <0.0009] <0.0009] <0.0009|| <0.00008 <0.0009]  <0.0009 <0.0009] <0.0009] <0.0009] <0.0009 11 0
17[43/9585Y 0.006 <000006 <0.00006{ <0.00006 <0.00006] <0.00006] <0.00006] <0.00006 7 0
18|15 /77> 0.009 <0.00009{ <0.00009] <0.00009 <0.00009] <0.00009] <0.00009] <0.00009 7 0
19|zxTahnT 0.03 <0.0003 <0.0003]  <0.0003]  <0.0003| <0.0001 <0.0003]  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003 11 0
20[TrIzvTOvsR 0.08] <0.0008] <0.0008 <0.0008]  <0.0008]  <0.0008| <0.0008 <0.0008]  <0.0008 <0.0008] <0.0008] <0.0008] <0.0008} 12 0
21 [TUFRLT7Y (RVVTEY) 0.01 <0.0001 1 0
22[AFHSHnsty 0.02 <0.0002 <0.0001 <0.0002]  <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 8 0
23|42 8 (MR 0.03 <0.0003 <0.0003]  <0.0003]  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003 8 0
24|AYHYRrAEY 0.1 0 0
25[hXHHZ 0.0006 <0.000006] <0.000006 <0.000006 | <0.000006 <0.000006] <0.000006] 6 0
267z zkE—1L o.oot%l <0.00008 <0.00008 <0.00008 <0.0001] <0.00008 <0.00008] <0.00008 7 0
27[hnsvT 0.3 <0.003 1 0
28] L /30)L (NAC) 0.02 <0.0002 <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 11 0
29[5> 0.005 <0.00005 <0.00005 <0.00005 3 0
30[*/553> (ACN) 0.005 <0.00005 <0.00005] <0.00005] <0.00005 <0.00005[ <0.00005] <0.00005] <0.00005 8 0
3 [FrTa 0.3 <0.003 <0.003 <0.0003 <0.003 <0.003 <0.003 <0.003 <0.0003] <0.0003] <0.0003] <0.0003 11 0
32[pzpm> 0.03| <0.0003] <0.0003|| <0.0003 <0.0003] <0.0003] <0.0003] <0.0003 7 0
33[FutH—t 2| <0.0002 <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 8 0
34| G Lk R —F 0.02 <0.0002 1 0
352047097 0.02 <0.0002 <0.0002]  <0.0002 <0.0002 <0.0002]  <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 10 0
36|20)L=FO7z> (CNP) 0.0001 <0.000001] <0.00005| <0.0001 <0.000001 | <0.000001 | <0.000001 | <0.000001 7 0
37]2aLEYRR 0.003]  <0.00005] <0.00003 <0.00005] <0.00005] <0.00003] <0.00003] <0.00003|| <0.00003 <0.00003[ <0.00003 <0.00003] <0.00003] <0.00003] <0.00003 14 0
38|~ansa= L (TPN) 0.05 <0.0005 <0.0005 <0.0005 <0.0005]  <0.0005] <0.0005 <0.0005]  <0.0005 <0.0005] <0.0005] <0.0005] <0.0005 12 0
39> 7oy 0.001 <0.00001 <0.00001] <0.00001] <0.00002| <0.00001 <0.00001] <0.00001] <0.00001]| <0.00001} 9 0
40[2 7 /A (CYAP) 0.003 <0.00003 <0.00003] <0.00003] <0.00003|[ <0.00003 <0.00003] <0.00003] <0.00003] <0.00003 9 0
41[>5A> (DeMu) 0.02 <0.0002 <0.0002 <0.0002] <0.0002]  <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 9 0
42[25n~= )L (DBN) 0.03] <0.0003]  <0.0003||  <0.0001 <0.0003]  <0.0003 <0.0003] <0.0003]  <0.0003 <0.0003:| 9 0
43[25nLHRZ (DDVP) 0.008] <0.0003 <0.00008{ <0.00008] <0.00008| <0.00008[ <0.00008| <0.0003| <0.00008] <0.00008| <0.00008] <0.00008| <0.00008] <0.00008 <0.00008] <0.00008] <0.00008] <0.00008 17 0
44[S9 79k 0.005] <0.00005 <0.00005] <0.00005] <0.00005] <0.00005] <0.00005] <0.00005 <0.00005 <0.00005 <0.00005] <0.00005] <0.00005] <0.00005 13 0
45| SRR (TFLFARARD) 0.004 <0.00004 <0.00004] <0.00004] <0.00004] <0.00004] <0.00004] <0.00004] <0.00004| <0.00004 <0.00004| <0.00004 <0.00004] <0.00004] <0.00004] <0.00004 15 0
46[SFADIN AL REE 0.005] 0 0
47[oFAEL 0.009 <0.00009 <0.00009] <0.00009] <0.00009|[ <0.00008 <0.00009{ <0.00009 <0.00009] <0.00009] <0.00009] <0.00009 11 0
48[> DRy T ITFIL 0.006] <0.00006 1 0
492wy 0.003 <0.00003 <0.00003 <0.00003] <0.00003] <0.00003|| <0.00003] <0.00003| <0.00003] <0.00003 <0.00003] <0.00003] <0.00003] <0.00003 13 0
50[SAGARYY 0.02 <0.0002 <0.0002] <0.0002] <0.0002| <0.0002 <0.0002]  <0.0002 <0.0002]  <0.0002] <0.0002] <0.0002 11 0
51[SAT—F 0.05 <0.0005]  <0.0005] <0.0005 <0.0005] <0.0005] <0.0005] <0.0005| <0.0005[ <0.0005| <0.0005| 10 0
52[S ARU> 0.03 <0.0003 <0.0003]  <0.0003]  <0.0003|[ <0.0003 <0.0003]  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003 11 0
53|54 7o/v 0.003]  <0.00003] <0.00003 <0.00003 <0.00003| <0.00003| <0.00003| <0.00003[ <0.00003] <0.00003] <0.00003] <0.00003| <0.00003] <0.00003| <0.00003] <0.00003| <0.00003 16 0
5451602 0.8] <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008] 11 0
55| 5V Aub, AL (H—INL) RUAFIVAVFA LT F—b 0.01 0 0
56[F7o=1 0.1 <0.001 <0.0001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 8 0
57[FHY5L(F5L) 0.02 <0.0002 <0.0002| <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 7 0
58| FAThILT 0.08] <0.0008 <0.0008]  <0.0008]  <0.0008 <0.0008]  <0.0008] <0.0008] <0.0008| 8 0
59 FAT7E—FAFIL 0.3 <0.003 <0.003 <0.003 <0.003 <0.003] <0.003 <0.003 <0.003 <0.003 <0.003 10 0
60[FARU LT (R FAH—T) 0.02 <0.0002 <0.0002 <0.0002 <0.0002] <0.0002] <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 14 0
6177 RIA> 0.002 <0.00002| <0.00002 <0.00002 3 0
62|7/L AL T (MBPMC) 0.02 <0.0002] <0.0002| <0.0002 <0.0002]  <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 9 0
63[ruznE L 0.006 <0.00006 <0.00006] <0.00006] <0.00006 <0.00006] <0.00006] <0.00006] <0.00006 8 0
64|ry& 0L (DEP) 0.005 <0.00005 <0.00005[ <0.00005|[  <0.0003 <0.00005] <0.00005] <0.00005] <0.00005 8 0
65[FUS 5= 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 8 0
66[FTLSYY 0.06 <0.0006 <0.0006 <0.0006]  <0.0006] <0.0006 <0.0006] <0.0006] <0.0006] <0.0006] <0.0006] <0.0006] <0.0006 12 0
67|+ FoussK 0.03 <0.0003 <0.0003]  <0.0003]  <0.0003|[ <0.0003 <0.0003]  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003] 11 0
68]/55a—+ 0.005 <0.0005 <0.00005 <0.001 <0.00005] <0.00005] <0.00005] <0.00005 7 0
69[ExDHRR 0.0009 <0.00003 <0.00003 <0.00005|[ <0.00005 <0.00001] <0.00001 6 0
70[E59a=11 0.01 <0.0001 <0.0001] <0.0001] <0.0001] <0.0001 5 0
T[E5vyFs oy 0.004] <0.00004 <0.00004 <0.0006 3 0
72[E5YUAR—F(ESIL—H) 0.02 <0.0002 <0.0002]  <0.0002 <0.0002 <0.0002]  <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 10 0
13[EVE I FAY 0.002 <0.00002 <0.00002 <0.0001] <0.00005 <0.00002] <0.00002 6 0
74[EUTFHLT 0.02 <0.0002 <0.0002] <0.0002] <0.0002| <0.0002 <0.0002]  <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 11 0
75|En%ny 0.05 <0.0005 <0.0005] <0.0005] <0.0005| <0.0004 <0.0005]  <0.0005 <0.0005] <0.0005] <0.0005] <0.0005 11 0
76]74Fn=L 0.0005| <0.000005] <0.00005 <0.000005] <0.000005] <0.000005[ <0.000005[<0.000005[ <0.00005] <0.000005] <0.000005|[ <0.000005[ <0.000005| <0.000005] <0.000005] <0.000005[ <0.000005| <0.000005] <0.000005[ <0.000005] 19 0
77|7z=FaF4> (MEP) 0.01 <0.001] <0.0001 <0.0001 <0.001] <0.0001] <0.0001] <0.00003 <0.0001] <0.0001] <0.0001] <0.0001 11 0
78|7z/7 5117 (BPMC) 0.03 <0.0003 <0.0003 <0.0003] <0.0003] <0.0003|[ <0.0003 <0.0003]  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003} 12 0
797z LY 0.05 <0.0005 <0.0005 <0.0005] <0.0005] <0.0005] <0.0005 6 0
807z F4> (MPP) 0.006 <0.00006 <0.00006 <0.00006] <0.00006] <0.00006][ <0.00001 <0.00006] <0.00006] <0.00006] <0.00006 10 0
81|z FT—k(PAP) 0.007 <0.00007 <0.00007] <0.00007] <0.00007|[ <0.00004 <0.00007] <0.00007 <0.00007] <0.00007] <0.00007] <0.00007 11 0
82[7x S HER 0.01 <0.0001 <0.0001]  <0.0001 <0.0001 <0.0001] <0.0001] <0.0001] <0.0001 8 0
83[7454K 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 10 0
84[JF550—)L 0.03 <0.0003 <0.0003] <0.0003]  <0.0003 <0.0003] <0.0003] <0.0003] <0.0003] 8 0
85[J53KZ 0.02 <0.0002] <0.0002 <0.0002]  <0.0002 <0.0002] <0.0002| <0.0002| <0.0002| <0.0001 <0.0002] <0.0002 <0.0002] <0.0002] <0.0002] <0.0002§ 15 0
86|770Izoy 0.02] <0.0002| <0.0002 <0.0002]  <0.0002 | 4 0
87[INFOF L 0,03 <0.0003 <0.0003 <0.0003]  <0.0003] <0.0003| <0.0003 6 0
88[ILFS5oA—IL 0.05 <0.0005 <0.0005] <0.0005]  <0.0005| <0.0004 <0.0005]  <0.0005 <0.0005] <0.0005] <0.0005| <0.0005 11 0
89[FmssFy 0.09 <0.0009]  <0.0009]| <0.0009 <0.0009]  <0.0009 <0.0009]  <0.0009] <0.0009] <0.0009 9 0
90[FoFAHR 0.004 0 0
91]FoEary—n 0.05 <0.0005 <0.0005] <0.0005]  <0.0005| <0.0005 <0.0005]  <0.0005 <0.0005] <0.0005] <0.0005| <0.0005 11 0
92| FoEHsF 0.05 <0.0005 <0.0005] <0.0005] <0.0005| <0.0005 <0.0005]  <0.0005 <0.0005] <0.0005] <0.0005| <0.0005 11 0
93[ForFy—n 0.03] <0.0003 <0.0003 <0.0003 <0.0003 <0.0003]  <0.0003 6 0
94|ToETFF 0. <0.001 <0.001 <0.001 <0.001 <0.001|  <0.0004 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 13 0
95[~/3L 0.0 <0.0002 <0.0002] <0.0002] <0.0002 <0.0002] <0.0002]  <0.0002 <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002] <0.0002 14 0
96|~ omy 0. <0.001 <0.001 <0.001 <0.001| <0.0004 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 11 0
97~ vELHAY 0.09 <0.0009 <0.0003 <0.0009]  <0.0009 <0.0009]  <0.0009]  <0.0009] <0.0009 8 0
98[~> YT+ T 0.005 <0.00005 <0.00005] <0.00005 <0.00004 <0.00005] <0.00005] <0.00005] <0.00005 8 0
99[~> 8y 02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002] 10 0
100[RoF445Y 03] <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.001 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003] 15 0
101[R>75hLT 0.04 <0.0004 <0.0004 <0.0004]  <0.0004 4 0
102 RV TNSYL (RRAVY) 0.01 <0.0001] <0.0001]|  <0.0001 <0.0001]  <0.0001 <0.0001] <0.0001] <0.0001| <0.0001 9 0
103[RoILt—k 0.07 <0.0007 <0.0007]  <0.0007]  <0.0007 <0.0007]  <0.0007] <0.0007] <0.0007 8 0
104[R2FF7E—F 0.003 <0.00003 <0.00003 <0.0006 3 0
105[%5F 4 (R5Y2) 0.7:I <0.007 <0.007 <0.007 <0.007 <0.007||  <0.0005 <0.007 <0.007 <0.007 <0.007 <0.007 <0.007 12 0
106|427 avF (MCPP) 0.05 <0.0005 <0.0005] <0.0005]  <0.000! <0.000 <0.0005]  <0.000 <0.0005 8 0
107[ AV 0.03| <0.000: <0.0003|  <0.0003 <0.0003 <0.000: <0.0003]  <0.000: <0.0003 <0.000: <0.0003]  <0.000. <0.0003| 12 0
108[245%F L 02 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.00: <0.0005 <0.002 <0.002 <0.00: <0.002 <0.00: <0.002] 15 0
109|*F & F 4> (DMTP) 0.004 <0.00004 <0.00004] <0.00004] <0.00004|[ <0.00004 <0.00004] <0.00004 <0.00004] <0.00004] <0.00004] <0.00004 11 0
110[AFS/RFEEY 0.04 <0.0004]  <0.0004]  <0.0004 <0.0004] <0.0004] <0.0004] <0.0004 7 0
11 [AUTS 0.03 <0.0003]  <0.000: <0.0003 <0.000: <0.0003]  <0.000. <0.0003| 7 0
12|47z F vk 0.02 <0.0002 <0.0002] <0.0002] <0.0002] <0.0002 <0.000: <0.0002]| <0.0000 <0.0002] <0.0002] <0.0002] <0.0002 12 0
113[#7m=)L 0.1 <0.00 <0.00 <0.001 <0.00 <0.00 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 11 0
114]EUA—F 0.00 0.000: <0.000: 0.00005] <0.00005[ _<0.0000! 0,00005] <0.00005 0,00005] <0.00005] <0.00005] <0.00005 11 0
AER N 12 74 16 11 16 18 11 15 74 90 91 78 11 65 65 10 90 90 90 90[[ 1017 0
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